FPavicy

Hi-Tech Parits

MOUNTING INSTRUCTIONS

REAR MUDGUARD ADAPTABLE TO
SUZUKI GSXR1000 “17-

It would be convinient to re-tight the chain cover screws,
specially the ones that are fixed to the motorcycle, whenever you
maintain the vehicle.

Ref.: 8999

Thanks for your attention.

Pg. 1/2

DESCRIPTION REF.
1 Rear mudguard 8999J/CM3
2 Ironwork SOPORT95-0-0095
3 Aluminium chain cover (black) CUBCAD85-4-0085
4 M6x10 DIN1001 screw (black) TORNI-17380-402
5 M6x15 DIN933 screw (black) TOZBOOM60000107
6 M6 DIN9021 washer (black) ARANDPD9021-037
7 M6x15 DIN10001 screw (black) TORNI-17380-403
8 Silentblock spacer CASQUI----- 0046
9 Silentblock rubber SILENBGONE--064
10 M6 DIN1001 plastic cap TAPON-------- 86
1 M6 caged nut TUERCAJFM6--319



https://www.motorcycleid.com/puig/

V =7/

<y

Tech Parts MOUNTING INSTRUCTIONS

-

REAR MUDGUARD ADAPTABLE TO
SUZUKI GSXR1000 “17-

emble the whee

Ass

Learn more about motorcycle frames and body we have.

Pg. 2/2


https://www.motorcycleid.com/frame-body.html



